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PART -1

Child Development and
Pedagogy

1. The Psychologist who defined moral 1

development-
A. Pavlov

B. McDougall
C. Piaget
D

. None of the above

2. Anne Sullivan, who served as Helen 2.

et TereRTer wer ot v

TR forshTe ol TG L aTet
EEICEIIEES

A. faaa

B. ThgTa

C. frmm

D. Sk H | IS Tl

U GlcTa, e Bei shetl oh 22 o &

Keller’s tutor suffered from- 4 i fora, forerer difga off?
A. Orthopedically handicapped A. g@mﬁwm
B. Speech defective B. WYR AT/ gadr
C. Mental Retardation C gt g
D. Visual impairment D. gemafy
3. In Piaget’s theory, a process which is 3. o o faeat=a o wsh gfsha s emoma
the balancing act between the “old” and 3T a@ﬁ%ﬁaﬁa ‘ETﬁ’ I AT FH
e e betuen oo s e o,
A. Assimilation A. SRR
B. Accommodation B. @HsH
C. Knowledge disturbance C. I ¥/ oFuTifa
D. Equilibration D. dde
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According to Piaget the second stage of
cognitive development is-

A. Sensorimotor stage
B. Formal operational stage
C. Pre-operational stage

D. Concrete operational stage

Principle of special education include-
A. Restrictive Environment

B. Least parent’s participation and
involvement

C. Non-discriminatory identification
and evaluation

D. Restraining public education

For children in the 2 to 8 year old group,
the pattern of development include
motor, social, emotional, cognitive and-

A. Adaptability skills
B. Communication skills
C. Language skills

D. Writing skills

4. 9Tt o SIE, SFHTeHe forehrd <t gardt

AT 8-

A. G-I eET/HTA
B. SATo=ITh HishaT el
C. JTp-HfsRaT I

D. ¥ €fsRa e

forere f3reat o foeaia o smfvret 2-
A. YfdsieTedeh aTdreer

B. HIAT-fUaT sl =HaH el Te
TRThTT

C. TR He-wraqul qg=i 31X qeaishT
D. wrEstfeh f¥1erm o U

2-8 TN T AT oF Fedl o To1Q, forehmet o
Se T HieT, HTHTiSTeh, YTaHTcHeh, HaTTeHeh
o 9T I g-

A. ST ETHAT AT HITT
B. SIS &HAT AT HINA
C. O & AT hierA
D. TRE &l A7 iR
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7. According to Right to Education Act,
2009, children with special need should
study-

A. Invocational training centres which
would prepare them for life skills

B. At home with their parents and
caregivers providing necessary
support

C. Ininclusive education setups with
provisions to cater to their
individual needs

D. In special schools created
exclusively for them

8. Which type of evaluation identifies
children with special needs?

A. Placement
B. Summative
C. Continuous
D

. Diagnostic

9. Whom of the following has not
propounded the learning theory?

A. Thorndike
B. Skinner
C. Kohler

D. B. S. Bloom

TRT&TT 3T AR, 2009 % SR, foRIT
JTITIHAT I <l bl ISHT AT(EL-

A

ST TIIT&T0T sl I 378 Sfia
A o FTT S R

HTILIF TN T&H o gL T
3ok HTAT-fUaT ST @I i JTel oh
T

IThT SR HTTIHATSHT hl T LA
& YT o |Ter THTE 31 soraree
T

forsTs ®u & 3ok forw smme T fareiy
gt o

o ® YeRR ShT e oh [orRY STTaearehdl aTet
sl Y TE=T LT 87

A
B.
C.

D.

e
ANTTH
fra
SRR

fatafaa 9 o forae st o1 faeera
farted =t feram 82

A

B.

C.

D.

DIESEED
fr

T
off. ta. s
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10.  There are individual variations in the
rate of motor development, yet the
sequence of motor development is

A. Proximodistal, cephalocaudal

B. Gross motor development, fine
motor development

C. Fine motor development, Gross
motor development

D. Cephalocaudal, proximodistal

11. During a task, Manisha is talking to
herself about ways she can proceed on
the task. According to Lev Vygotsky’s
ideas on language and thought, this kind
of private speech is a sign of-

A. Self-Regulation

B. Ego-centricism

C. Psychological disorder
D

. Cognitive immaturity

12. " Which term is generally used to describe
the method and practice of education of
students with particular learning
difficulties, mental health issues,
specific disabilities (physical or
developmental)?

A. Integrated Education

B. Education for the disabled
C. Inclusive Education
D

. Special Education

10.

11.

12.

et faehre § safrd farfir=ad gt 81 bt

Teh T o QIO AT S § 39 9 H ST
T T 2, 1 8 fohe TR T T AT g
FhelT | AT I IR oX e areeticahl
T, 36 TR T (T HT90T foherhT Tohet
z-

-
TeH-hfegam
EEICRIIECACEN
HHTcHe ST

o o w >

oI TSN, AT{beh Tameed o T,
farf3Te srermanett (st = faskmarcnes)
1ot Teremfefa <t frer geafar 7K o1vame 1
U T o TIT T T S1o8 T ST
fopa ST 872

A. TEid fream

B. ferrerii & fore farem
C. gmmaeft fram

D. fomiy fareq
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13. Tt is said that ‘Development is a never
ending process’. Which of the following
defines it?

A. Principle of interaction
B. Principle of continuity
C. Principle of interrelation
D. Principle of Integration

14. Thematic Apperception Test (TAT) of
measuring personality is a-

A. Subjective Technique
B. Objective Technique
C. Projective Technique
D. Experimental Technique

15. Which of the following principle of
development is incorrect one?

A. There are individual differences in
development

B. Development is the result of
coincidences

C. ltisa continuous process
D. Itis predictable

16.  The meaning of development is-
A. Progressive series of changes

B. Progressive series of changes as a
result of motivation

C. Progressive series of changes as a
result of motivation and experience

D. Series of changes as a result of
maturation and experience

I hel ST & Toh, “forenre Wk eft 1 oo
B ol Itk 27, 38 efafaa a9
forereh g afteTiyye shedt 22

31 fsra vt e
. i & faeeia
st oy Ry

. WhIshT 1 freaia

OO0 W >

Sfchea skl 719 <hl fafer ofafeesr o
3T (TAT) B-

A. SRS dh
B. S&ME dehleh
C. W& qahieh
D. SANTCH qhrlch

foemma o Fafafaa ferar g g s ar

B. SRTIROT o GRUMHEE®Y qiEHT o
STt el

C. ST 3T ST o TROTTHERY
it i SRt S|

D. Ui ST ST o TROTHERT
qiErHT shT el
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17.  The tendency of “feeling of rebellion” is
related to which of the following stages?

A. Childhood

B. Infancy

C. Pre-adolescence
D

. Middle Adolescence

18.  Which period of development is called
“Period of extreme pressure and
tension”?

A. Adolescence
B. Childhood
C. Adulthood
D. Infancy

19. Which step is prominent in the
composition of teaching model of
memory level and understanding level ?

A. Planning

B. Exploration
C. Generalization
D. Presentation

20. Which of the following theory is also
known as Theory of Reinforcement?

A. Operant conditioning theory
B. Stimulus response theory

C. Classical conditioning theory
D. Theory of insight

17.

18.

19.

20.

“fersre <1 v it yaf frefafaa g @
forer STareeT @ Heifera 27

A. ST
B. IrmETEEn
C. o-feremirereer
D. T fopemraen

foranma < forer a1afer 1 <eTcafires gama 3T
TTE T BTt hel STTaT 27

A. e

B. dTcIEEAqT

C. TTEHIEAT
D. ATETEEAT

T W TR e &R o e died
oo § 1 91 =0T e R 2

A. FISHT
B. 3T=NUT
C. M=ol
D. SRR

A

frefoTfiad & & & |1 freared qHeer
foreaT= oft swecmar 82

A. g g e

B. g hafsear faeara

C. FATGHRA herRIH-T freara
D. ¥ 7 =138 il faear=q
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21.

22.

23.

24.

The right to free and compulsory 21.

education for children between the age
group of 6-14 has been included in the
Indian Constitution as-

A. Article 26
B. Article 15
C. Article 45
D. Article 21A

What do you understand by peer rating? 22.

A. An assessment tool wherein the
work of a person is assessed by
other peer members

B. Itis similar to peer grading

C. The rating of peers could be done by
anyone

D. A rigorous assessment of skills

Special Education does not only 23.

encompasses students with disabilities,
it is also made up of-

A. Gifted and talented students

B. Outstanding students in sports
C. Substance abuse children
D

. Students from weaker sections of
society

A child of 6 or 7 years old is not able to 24.

accept other’s view point-

A. Because he is too young

B. Because he is ego-centric
C. Because he is not intelligent
D. Because he is imaginative

TRATT | H 6-14 99 o SR 1 6
sl o T (x[eeh 37t stfamd fRrer <
JATereRTC Rl STTfAe foma T 2-

A. I3 26
B. 3193 15
C. =T 45
D. =88 21T

oo e | 3179 T wHEd 87

A. T TR 3UROT ST foRet Sateh o
IR IEE K | RN E R
SIGIE]

B. I8 TR UTET o w9 2

C. wferit i Xfem #hig +ft ot Wk 2

D. SISl T Teh hic Hed |

forey T3 & 7 et forehetio ST 1
wTferet foram R B, sifcen gad e oft wfrer

np

. STt BT

. Tl § IR B

TTEh 557 o i el ST
HUTS o FASIR/E T a1 o S

OO0 W »

Teh 6-7 TN T SFeell GEL oh GIEehI0T i
TS TR Tl T ITeT-

A. Eifsh I8 TEd BT €
B. ®Iifeh a8 STTcHehI~5d 2l
C. ik I8 JeawH el 8

D. Hifeh 98 SRl 2l
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25.

26.

27.

28.

The child begins to form concepts of 25.

physical and social reality, this is one of
the characteristics of-

A. Physical Development
B. Intellectual Development
C. Emotional Development
D. Social Development

Which one is not an element of 26.

Intellectual Development?
A. Creativity

B. Thinking

C. Tolerance

D. Imagination

Which statement is wrong in the context 27.

of personality?
A. Personality is unique and specific

B. Personality is a Joint product of
heredity and Environment

C. Personality spreads over the
subconscious and unconscious
behaviour of the person

D. Personality is limited only to the
appearance of a person

Which of the following is not a personal 28.

factor affecting social development of a
child?

A. Peer group
B. Health

C. Emotions

D. Intelligence

STl ifdeh 3T TSR aTEdferehar shi
AT hT FAHT0T o7 I SR AT R,
7g forgrar -

A. STfE fosm
B. siifegss foerma
C. HammeHeh foreprer
D. @mTfeeh forehre

fFrefefiad o & i sitfeash foenm o a
el &2

B. fa=+
C. gasfierar
D. sheqaRiterdr

Afched o HaW H M H1 HA ToTd o7
A. =fee 3T @ fafire grar 2

B. kel SATFeifITeRdT o STTerol <hT
I I B

C. SAfthed SAfth o Ia=idd 3T 3Td
ST 1 el g3 2
D. Sufthed shddl SATh o STl &9 deh HIfgd

g 2l

FfIRad & § i T Tl o GHTSTeh
forehTer st Tfera s aTeTT SARETd FRe
T

A. @reft amE

B. @y

C. ©am

D. Jftg

A
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29.

30.

According to Lawrence Kohlberg 29.

theory, “Performing an act and doing
something because others approves it”,
represents -------- stage of morality.

A. Conventional

w

Post-conventional

O

Formal conventional

o

Pre-conventional

Divya is shown three pens and she 30.

observes that Pen A is longer than Pen B
and Pen B is longer than Pen C. When
Divya infers that A is a longer Pen than
C, which characteristic of Jean Piaget’s
cognitive development is she
demonstrating?

A. Seriation

w

Conservation

O

Transitive thought

o

Hypothetico-deductive reasoning

AN HIEAT o STTEN “Teh 1l HeTrad
hUAT o e AT Tk GHL I TellehrT i

fesar =t ff7 O fewmy w31t g srarce
FLA A IT A, U9 B 9 1 @ S B,
U C ¥ e 2| ST foeam o 1A A sht
A, C A ST UL 8, a1 98 S st &
YT farehtd shl i &t fasiar yefsia
T R

A. FHTEEAT

B. @&

C. HHs =)

D. et fFmmaTenes arfeherdr
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31.

32.

33.

34.

PART - 11

Hindi

frrferfaa aert # & 3eg e -

. #fYeRsuT 3 STeRT AT F)

. T i R T

36 THY SATTehT ST =TeiE a9 ol 8
. e TR Siie 1 i Ty 2

U o w »

TTerfieR Tt UT 19T g § 9TeT Heieft shi
T HETe Fafere Teceul g 82

A, FFIR
B. S-HIeed
C. THER A
D. Icfifesm

JuET I T 2-

o0 w »
=3

I 52 SHafl H SgHTINeRaT bl TICTIoa
T 87

. FE SISt ST BT T T &7

=] A ATt HEeh ohl T Fhed 872

TN o H qH =T @I
D D

T ol STY1-3TOT ATT § RIT hed 22

O o w >

35.  QTHT: ST Eal Shl GFeht SfcroRaT ST

TR T 3T -
8-10 AR |
6-7 AR Y

239

4989

O 0w >

36. eafal o Al ¥ S |releh vl §aT hi HT

hed 87
&
aref

N

oo w >

ar=q

37. Y g -

C o w >
&g

38. A 3reel H qoEH Teq B-

oo w»
45 & 4
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39. fy=fafiga d @ fore arerr § wt vesh 2- 43.  Srfaarereh 9T o1 3T 8-

A. TSI T TeT 2 A Fer
B. Tk Tfgeh TeT 2| B. drer
C. TSH UedT o Tl C. TS
D. UgdI-AIgh T&eh 2 D. &

40. f=fafga ar | 9 g=eg I 9T Bl 44, IITITE ATE T AT HUT IS ARITh T

TE=ITR- 379} g 2-
A, qEERI A. T TE 81 S o o186 fohereht
B. ®TTHE@TR AN fem
C. s @t for A B. SRR T el T ST
D. aft g amir v i i T C. Arafrsmn
D. = e
41, STTEAR I Teq 2- 45. o=t v o forerre 1 w2 o 2-
A. & A. HERT-ITI- STohd-STIYHET- 3Taes- fewdt
B. W B. - NTehd-E&hd-ATH- 31a8e- et
C. X C. TIfcA- ITohd- STTYTT- 3TTEE- HEha-
D. e fe=dl
D. uIfcT-Eahd- IThd-3TauvT- 31aes- et
42. fer o 9 wgsiife wHT I vea e 2- 46. Tz STereh HeT T 3T 2-
A. =T A. T wd @
B. =l B. qERTE@IRAN
C. v C. IS AR, @I A
D. Ha@ueT D. 38 % el @l
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47.

48.

49.

50.

C. R
D. #eh

ST Y ST & i Ueh 16 H ohe Hohd =-

O 0 W

TTH W hH-HT ATT-37Teher | Jod 9
T} TIRT 27

A. g e
B. aeH! forem
C. =eAT-av
D. Hfacr@

N

ol.

52.

53.

54,

SftRshr % fore frer & form gerat a1
ST foRaT ST 22

A. fR-fm s T
B. &g
C. e SRt HHT

D. Hmeh e T

Foer & & for e e 2
A e

forer a7ef o fora STTaT 82
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55.

56.

57.

femet saTeRtor 1 ford Tehr o it Bid 22
TR

OO0 W >

icH
. TF
o

ol TSIl WIS ol 1T dell” TAtehlf<h ol 31
BT &-

A. 9EH B

B. 3TEWd gl

C. 3= 3R ATEROT 3! qar |

D. 0T % forees T

T AT TS o 578§ @ qT 6 3
TSCT o TTY ST (HT AT FE-TH hT) L
gford 21, 38 R Fd 27

fopa

FH

fopa fersror

Ell

o0 w »

58.

99.

60.

THT forehTer < S =T SheeT: T -
A. 3ifire, afe, fafea, =it
B. anrfush, ffiaa, Fife, stiftres
C. foafaa, =if, siffes, anfae
D. 3ifeh, 3ifire, anfees, faflaa

HeTT USAT H U aTed] AT TF 8 et
1saT okl Teld diieh & siord] 21 3119 =T
HA?

A. 3" g ITel TTeal ol HLEL G o g
am

B. 3W g’ AT IaAT o6l gt ol

C. ¥ ‘g a1 Ieai ol 310 Hw-die
qreT o T e

D. @Y g dTc YIeal bl Tast U7 & 36k

HHET TEId L I AT Sier
STHITE |

1 T T 7 B-

A. T

B. afar

C. arflm

D. A
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PART - 111

English

Read the following Passage ‘A’
carefully & choose the appropriate
answer from the options given for
Que. No. 61-69.
Passage - ‘A’

There is a general consensus that
‘International Understanding’ need to be
taught as a separate subject at the school
stage as that would add to the curricular
load which is already too heavy. Instead
it should be woven into the curriculum
and the numerous opportunities that
present themselves while teaching
normal school subjects may be
intelligently and imaginatively used by
the teacher to promote International
Understanding.

The school subjects which can be most
profitably used for this purpose are
History, Geography, Civics, Economics,
Sociology, Political Science, Social
Sciences, Languages as well as Physical
and Life Sciences. However, at the
higher education level, International
education can be prescribed as a
separate subject of study. In fact, the
present situation in India broadly
conforms to this consensus so far as the
school stage is concerned.

At the under-graduate and the post-
graduate levels, courses of study in

subjects like History, Geography,
Economics, Political Science,
International Relations, International
Law and International Organization

have been prescribed by most of the
universities and these contain content
which has a direct or indirect bearing on
promoting UNESCO ideals.

61.

62.

63.

64.

S
Pick out the name of the subject which
deals with the study of society?

A. Political Science

B. Social Science

C. Sociology

D. Life Sciences

The school subjects which can be most
profitably used for this purpose are
History, Geography, Civics, Economics,
Sociology, Political Science, Social
Sciences, Languages as well as Physical

and Life Sciences.
In the above sentence, the underlined

profitably is a-
A. Noun

B. Verb

C. Adverb

D. Adjective

Pick out the most probable meaning of
the phrase------ most profitably used.
A. Most fruitfully used

B. Most rewardingly used

C. Most valuably used

D. Most commercially used

What are the two stages where

“International Understanding” should be
taught as a separate subject?

A. Primary and Secondary stage

B. Under-graduate and post-graduate
stage

C. Secondary and under-graduate stage
D. Post-graduate and Doctoral stage
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65.

66.

67.

Instead it should be woven into the
curriculum  and  the  numerous
opportunities that present themselves
while teaching normal school subjects
may be intelligently and imaginatively
used by the teacher to promote
International Understanding.

The word in italics woven is used as-

A. Noun

B. Verb

C. Adverb
D. Adjective

Which phrase from the passage means
“combined with the curriculum”?

A. Intelligently and imaginatively used
in the curriculum

B. Can be prescribed in the curriculum
C. Woven into the curriculum
D. None of the above

On reading Para 1, it can be inferred
that-

A. All the subjects at school level may
not be helpful in promoting
International Understanding

B. School subjects may be used
creatively to promote International
Understanding

C. International Understanding may be
treated as a separate subject in
schools

D. The school curriculum is too heavy
to incorporate International
Understanding

68. How International Understanding can be

taught at the school level?

A. Through various subjects like

History, Civics, Geography, etc.

B. By giving numerous opportunities

to the students

C. By combining the subject content

with the curriculum

D. All of these

The implied meaning of Para 3 is-

A. Most of the universities have
prescribed learning of International
understanding

B. The subject International
Understanding is based on the
UNESCO ideals

C. International Understanding is to be
taught only at under-graduate and
post-graduate level

D. International Understanding
contains subjects like International
Relations, International Law and
International Organization
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Read the following Passage ‘B’
carefully & choose the appropriate
answer from the options given for
Que. No. 70-75.

Passage - ‘B’

The reports published by a Delhi based
non-governmental organization working
for the elimination of child labor in
India suggest that there is no end in
sight to the sordid saga of child labor.
The studies conducted reveal that
nightmarish ordeals that a vast majority
of children undergo for getting the basic
necessities of life. One of the activists
narrated the heart-rending and shocking
stories of many hapless children. He
accused the society of insensitivity
towards this vulnerable section.

It is said that more than five percent of
the total Indian population are child
workers. Tens of thousands are chiefly
engaged in agriculture in rural areas and
in a variety of industries in urban areas.
Children as young as seven years of age
spend days stitching footballs, boxing
and cricket gloves for export. Many
children spend their entire childhood
making carpets with their dexterous
hands. Unofficial figures suggest that as
many as 40 to 100 million children work
in hazardous industries like glassware,
fireworks, quarries etc. Many of them
have been forced to work in unhygienic
conditions often on a casual basis.

70.

71.

72.

73.

74.

The word heart-rending means-
A. Risky

B. Distressing

C. Shocking

D. Painful

The word sordid means-
A. Dirty and unpleasant
B. Clean and pleasant
C. Transparent

D. Opaque

The word dexterous means-
A. Skillful
B. Forgetful
C. Mindful
D. Handful

The word hapless means-
A. Fortunate

B. Lucky

C. Anxious

D. Unfortunate

Many children spend their entire
childhood making carpets with their
dexterous hands.

The word in italics dexterous is used as-

A. Noun
B. Adjective
C. Clause
D. Adverb
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75.

76.

77.

78.

The studies conducted reveal that
nightmarish ordeals that a vast majority
of children undergo for getting the basic
necessities of life.

The word in italics ordeals is used as-

A. Noun
B. Pronoun
C. Adjective
D. Adverb

When an error recurs in language
despite being corrected, it is a-

A. Slip

B. Fossilization
C. Foghorn
D. Mistake

Navneet can speak English and Punjabi.
While speaking in English, sometimes
he starts speaking in Punjabi without
changing the topic.

It is called-

A. Code-mixing

B. Code-switching

C. Influence of mother tongue
D. Punjabi-English

An assessment by which a learner’s
performance is measured against his/her
own previous performance is called-

A. Ipsative-referenced assessment
B. Norm-referenced assessment
C. Criterion-referenced assessment
D. None of the above

79.

80.

81.

Mr. Ganesh dictates a short paragraph to
the students.
This exercise aims-

A. To improve listening

B. To improve writing

C. To increase concentration

D. To integrate listening and writing

I. Maya is born in a Marathi speaking
family. She picks Marathi from the
family environment.

I1. Srijan wants to work in Germany.
He joins a German Language
Training Centre and picks German.

A. Phenomenon I is language
acquisition and Il is language
learning

B. Phenomenon I is language learning
and Il is language acquisition

C. Both the phenomena are language
acquisition

D. Both the phenomena are language
learning

The primary purpose of introducing
rhymes in the elementary level school
is-

A. To entertain the children

B. To understand the meaning of new
words

C. To make the free use of language
via reception and production

D. To teach the students music
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82.  Angela loves reading short stories and
fictions. She finished reading Harry
Potter day before yesterday. She did not
read it out of any obligation or any
examination.

Such reading is called-

A. Scanning

B. Skimming

C. Intensive Reading
D

. Reading for pleasure or Extensive
Reading

83.  Why is remedial teaching required in the
domain of ELT (i.e, English Language
Teaching)?

A. ltisan inclusive approach

B. Every learner has a varied pace of
learning

C. Little bit of scaffolding helps the
slow learners to come in the
mainstream

D. All of the above

84. Which of the following is not a multi-

media material?

A. English Language Lab

B. PPT Presentation with AV

C. Projection of a YouTube video-clip

D. Collage of paper-cuttings

85.

86.

87.

88.

Miss Mala asked the class some
questions regarding the games/sports
they were interested in; how often they
took part in any competitions. Then she
read out a passage about Mary Kom.
The former action here is-

A. Introduction to the text
B. Pre-listening activity

C. While-listening activity
D. Listening comprehension

In the beginning of an academic session,
the English Language Teacher conducts
a test to know students strengths and
weaknesses, by what they know and
what they do not know. This is a/an-

A. Proficiency Test
B. Achievement Test
C. Placement Test
D. Diagnostic Test

The techniques, practices and behaviour
that operate in the production, practice
and feedback phases of teaching are the
part of-

A. Approach

B. Design

C. Procedure

D. Evaluation

Which of the following is not a set of
language skills?

A. Listening and speaking

B. Vocabulary and grammar

C. Reading and writing

D. Speaking and writing
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89. “Skimming’ is the sub-skill of-
A. Listening
B. Speaking
C. Reading
D. Writing

90.

“Learning grammar and mathematics is
important for the mental growth of a
child.”

Who has given this hypothesis?

A

Piaget

B. Vygotsky
C.
D. Newmann

Chomsky
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91. Person ‘A’ can do a work in 20 days.
Person ‘A’ & ‘B’ together do the same
work in 15 days. If they are paid Rs.400
for the work, what is the share of each?

A.

B.

Mathematics

‘A’ Rs.300, ‘B’ Rs.100
‘A’ Rs.250, ‘B’ Rs.150
‘A’ Rs.100, ‘B’ Rs.300

‘A’ Rs.200, ‘B’ Rs.200

92. Learning by rote is an indicator of
which model-

A.

Programming Model

B. Banking model
C.
D. All of the above

Building understanding

93.  Rohit experiences that square is a
rhombus as well as rectangle. His
thinking is in which stage?

A

Analysis

. Relation

B
C.
D

Deduction

. Recognition

PART - IV

T

91. =ufws <A’ forelt v A1 20 feg A FeaT R,
3 1 B Tk ‘A’ I T fh B’ T
forersht 15 Tt o =t 21 AT SFehl QU e o6
foTT 400 ®. T ST & A7 S 1 Sean |
fepaa feramT 3

A. ‘A’300F, ‘B’ 100 &.
B. ‘A’250%, ‘B’ 150 &.
C. ‘A’100%, ‘B’ 300 ¥&.
D

. ‘A’200%, ‘B’ 200 &.

92.  EfigHT AT T - FoRE Hiee o1 o o-
A. STt Hied
B. s Hted
C. gz e famior
D. 39 @+l

93. fee = T Era & o ot o waqS
3R A ST & | T T o fohd soT X
27

forsgwor
gae
=

qEITAT

o o w >
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94.

95.

96.

97.

Each prime number has two factors. 94.
What method should be followed to

prove it at the primary level’?

A. Inductive

B. Deductive

C. Analysis

D. Synthesis

A close relationship between the growth 9.

of thinking and the development of
mathematical concepts is established in-

A. Theory

B. Intervention
C. Research

D. Demonstration

Evaluation of mathematics learning 96.

should be primarily-
A. Diagnostic
B. Summative
C. Formative
D. All of the above

A damaged chair that cost Rs.110 was 97.

sold at a loss of 10%. Find the selling
price of chair.

A. Rs. 199
B. Rs.99
C. Rs. 111
D. Rs. 121

TRIe TVTST HE&AT o 3l UGS B 8
TeITHe T R 38 e o o fore forer
TeRd ohT 9Tl R ST =i ?

A. JTHATHS
B. frmeTH®
C. fasgmor
D. w3uor

| ot g SR T dehouHTatt o
foremmar o =1 Uk fene geier ot forwt
wTu forar ST 22

A. faeeia

B. & &

C. rgHyN
D

. TeYH

Ot AT o7 Yoo Hord: ST =T1eT-
A. THermcrs
B. JMTcHh

C. EATcHS
D. 39Uk g+t

T &I T STEe 0o 110 %, 3 36
10% BT T SI=IT ST €, T 39 el b1
fershar g1 e i

A. EF 199

B. ®9¥ 99

C. &9 111

D. &9 121
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98.

99.

100.

101.

“The sum of two even integers is always
even”. Which method can be used to
prove this?

A. Proof by induction

B. Direct proof

C. Proof by contradiction
D. Counter positive proof

Putting together known bits of
information and moving from known to
unknown is-

A. Analytic Method

B. Synthetic Method
C. Inductive Method
D. Deductive Method

Oral examples help to develop which
power in pupils?

A. Thought

B. Logic

C. Imagination
D. All of the above

A boy can type 960 words in 20
minutes. Calculate his typing speed in
per hour.

A. 2880 words per hour
B. 48 words per hour
C. 288 words per hour
D. 196 words per hour

98.

99.

100.

101.

2 | YUTIhT T ANT Had & gt 87| fore
fafer o o= faee forar ST HsRaT 32

A. A fafer grr suuta
B. ¥cg&t 39Ut

C. vfiame grr squfd

D. 9fd HehIeHsh Sudf

T ok T ST b T AT T TR 1
& SFITC Bl T T &-

A. fasgomess fafyr
B. HsuureHs fafyr
C. AT fafer
D. frmHTeres fafyr

ek SaTetor forenfefa o for wifh
ferenfer a 27

A. =R oite

B. @ Ik

C. Hea ik

D. TR Tt

Tah AT 20 THe T 960 I1e8 23T o Tehdl
21 ufer 51 § 3geh ersfu hy i s/ it

A. 2880 3158 i EeT
B. 48 3Teg i T

C. 288 3188 gid =T
D. 196 16g Wi sieT
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102. |f the radius and height of cylinder is 102. fg fopet sier st e oK 3=ms shusT:

respectiv_ely r and h, then volume of the 1 30 h 2, A e BT ST -
cylinder is-
A = 2 A E r2h
—r“h 2
2

B. 2,2
B. . r2h2 nrch

C. 2
C. B r2h r h
D. Tfrh D. T I‘h

103. A rectangular piece of paper dimensions 103. 6cmx Scm HIY & STHR & FHIATS o fhAN &
3cmx2cm was cut from a rectangular 3cm x 2cm A9 T IS T ZhST 1T TAT
sheet of paper of dimensions 6¢cm x5cm. Al o U IS o The ShT &A% T BIT?
Area of remaining sheet of paper is- ‘ -
cm
A 6 cm >
! 5cm
5cm t+ 3cm
3cm )
> 2cm
2cm i

A. 30 @
A. 30 cm?

B. 2
B. 36 cm? 36 %
C. 24 cm? C. 243’
D. 22 cm? D. 22 o

104. Which is not related to the nature of 104. feferfaa ® € TIOTT <l Tepfe o1 deer

Mathematics? foreer e 22
A. Exactness A. I¥Edr
B. Specific sequence B. iy
C. Expanded expression C Tt sfisafs
D. Pattern D &y
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105. 105. .
Convert the fraction % into percent. far= % ! gfera ¥ sefery
A. 0.1875% A. 0.1875%
B. 0.1650% B. 0.1650%
C. 16.50% C. 16.50%
D. 18.75% D. 18.75%
106. Write the following fraction in 106. farifera for=T =t sed sh o forfiaT
increasing order EEE 9 35
14 411 14" 4’11
A 35 9 A 35 9
4'11' 14 4'11' 14
B. 539 B. 5 3 9
11' 4’14 11' 4’14
C. 5 9 3 C. 5 9 3
11'14" 4 11'14" 4
D. 9 5 3 D. 9 5 3
14711 4 1411 4
107. | 18:13.5::16:x, then find the value 107. 7fe 18:13.5::16:x ®, AT x T HE J1d
of x- AIfera)
B. 12 B. 12
C. 21.33 C. 21.33
D. None of the above D. 39k d ¥ IS Tl
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108.

109.

110.

Use of the game “Snakes and Ladders”
in mathematics teaching is most
appropriate for developing the concepts
related with-

A. Measurements
B. Numbers
C. Shapes

D. Geometry

Find out the value of 2§+1%

A 22

The use of three dimensional objects
like ball and orange to develop the
concept of sphere is example of the
dimension/aspect-

A. Hierarchical structure
B. Specific to general
C. Concrete to Abstract

D. None of the above

108.

109.

110.

o fRvegor o <at 3R HEr % @
SYANT FATIh ITYTH B, I TN
1 forenfira e o fore i weiferd § -
gl

A
B. @&t
C

D. Sk

2%+1é T HIE J1d i

A 22

e, T S Prfem TR o awgat
YT hleh TTTATS sh AT T T
ST 36 T BT 3ATELT 2-

A. GRS HEATE
B. fafdte & =mues & 31X
C. T & 37 T 3R

D. IWIh HIE Tl
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111. The average of 3, 8, 9 and x is 6. What 111. 3,8, 9 3 x &1 SNET A 6 ®, Al x T A

is the value of x? FIT BTY
A. x=4 A x=4
B. x=-4 B x=_4
C. x=2 C x=2
D. x=-2 D x= _2
112. What is the relation between ‘Volume’ 112, ormga S Soamm % sfie T e 82
and ‘Mass’? i (ST&T, S & M’ ¥ ARG TV |
(where volume is denoted by ‘V’, mass )
is denoted by ‘M’ and density is denoted 3T SfFFeel T D’ | Ffehet fohall T R)
by ‘D’
y =) A M=VxD
A. M=VxD
B. V=MxD
B. V=MxD c
C. o1 © M= vl 5
VxD 8
D. D— X D. D= X
M M
113. Find the volume of a cuboid, whose 113. Uk AT T A J1d shiferg, fSreehi
length is 14 cm, breadth is 12 cm and AR 14 9T, SieTE 12 Tt qour 398
height is 8 cm. g oY 2
A. 1244 cm? A. 1244 onfP
3
B. 1344 cm B. 1344 %Y
3
C. brzem 3 C. 6728
D. 2688 cm
D. 2688 @ul’
114. Which concepts are more abstract? 114. &9 € STaumog 31 S o2
A. Geometric A. SITHA
B. Algebraic B. sfsiorder
D. All are equally abstract D. Tfioaa Ty 34113?%
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115. vsalue of /6.4009 is-
A. 2.53
B. 153
C. 353

D. None of the above

116. The HCF of two numbers is 15 and their
LCM is 300. If one of the number is 60,
the other is-

A. 25
B. 60
C. 75

D. 120

117. which of the following relations is
correct?

A. Speed = Distance x Time
Speed = Dls_tance

Time
Speed = Time

" Distance

1
Distance x Time

D. Speed =

115, /6.4009 1 = ST hifsr-

116.

117.

A. 253
B. 1.53
C. 3.53
D. SRk H ¥ &g T
AT S HEATHT T HETH G 15 TAT
ST TH HTIE 300 & TAT T T
60 BT AT GET AT AT BT
A. 25
B. 60
C. 75
D. 120
frreTifoRa & & o1 @1 dey W 82
A. T =T xTHT
B. a8
EEE

C. R

=
D. [

mg:%ﬁ;gﬁ_
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118. How much time will it take for an 118. 450 %. T 3T o oAU GreImor sa 1 % 4.5%

amount of Rs. 450 to yield Rs. 81 as i bl 0 O oSl o Y | 81 &, ITH HA
interest at 4.5% per annum of simple T foraT 9T o
interest?
A. 35T
A. 3.5years
B. 43¢
B. 4years
C. 459%
C. 4.5years
D. 5Syears D. 574
119. In which model, “step by step” learning 119. form Hfget | “<I0T S S0P TG ol TEHT
is considered learning- T ST 2-
A. Banking Model A. SfrTHES
B. Programming Model B. ST diee
C. Constructive model C. segfea Hiea
D. All of the above D s7i et
120. Which of the following is not a 120. fyeferfad & @ @ mifvrdtr f3reror o
dimension of assessment of oo T STTITH T8 82
mathematical learning? =
A. Communication A
B. Patterns and Procedures B. &Y AR HrTeafd
C. Disposition towards mathematics C. Tifora & ufe sl
D. Mathematical Reasoning D. T ddse
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121. Diseases spread / caused by mosquitoes

122.

123.

PART -V

Environmental

are-

A. Typhoid, Tuberculosis, Cholera

@

Chicken pox, Measles, Polio

O

Beriberi, Rickets, Pellagra

©

Malaria, Dengue, Chikungunya

Which skill is most developed by
teaching mapping at the primary level?

A. To calculate
B. Drawing
C. To measure
D

. Ability to understand location,
distance and directions

Choose the correct option with respect
to statement given below-

Mistakes made by children in class.
A. It hinders the learning process

B. It helps the children to solve
problems

C. Provide a basis for classifying
children into weak and gifted
categories

D. This is asign of weakness in
learning

121.

122.

123.

T TERUT

T o g1 et / B ATl T 8-
A. TAHTEE, &R, &1

B. SIEWT, T, Wiferar

C. si{ie, feshew, Tetmm

D. it <, feepyfar

TerfHeh T R qH = fore o forg
1T ShT FeTE STy forehmd it 87

A. TUHT HEAT

B. warfes AT

C. HI9 AT

D. o, gt 37T Tt bt wwer i
&TaT

et fo2r U she & Heiy | gl forehed
TS -

T H ol g ohi 718 TTeAtarat

A. I i@ | o1 3= HLdl 8

B. 3 Sl ol GHEAT ohT THTTE o
HETIAT A

C. I =ai hl FHSIT T Gierarered ot §
Sie T FTIR AT &

D. Ig HiE 4 FHeil i af=mes 2
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124,

125.

126.

127.

Under which assessment tool do
teachers collect and record information
about the child’s learning progress.

A. Checklist

B. Portfolio

C. Rating scale

D. Anecdotal Record

The decomposers in an ecosystem-

A. Convert organic material to
inorganic material

B. Convert inorganic material to
complex forms

C. Convert inorganic material into
organic material

D. Do not breakdown organic
compound into simpler form

The earth takes about ------ to complete
one rotation around its axis.

A. 365 days
B. 24 hours
C. One month
D. 48 hours

Geeta is the wife of Raman, Dev is the
only brother of Geeta, if Ritu is the
daughter of Geeta, how is Dev related to
Ritu?

A. Father

B. Maternal uncle
C. Paternal uncle
D. Grand father

124.

125.

126.

127.

f3T8TeR 3TTohaT oh Tore SUERT o 3T=dTiq
oot hl EiE § Ty Y SRR Tehfad ot
3T fehie w@a &2

A. Sra g
B. Uiwifera
C. ¥ freriwor 9gmT

D. SUTEIMIHS T

ueh qTiRerfaes o o STTEee-

A. ISR TeTeT Rl 3TehTsi ek qaTelt
Jed &

B. STehTsiieh USTYl bl SIfeet 41 H seld &

C. 3epTai-eh YTl ohl ehlsif-eh GeTerf &
TeeAd &

D. sk YTt ol Tt &4 H & s)eerd

el ST 37& T T U FS - F q0f
LT 2

A. 365f
B. 24%
C. THHEHT
D. 48%¢C

T, T S IeT 7, <, T ST Sehaitar WS
2, A g e 1 Ot & 3o o1 feg o
fezar &2
A. fuar
B. T
. ST

C
D. <t
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128.

129.

130.

131.

Which one of the following is a
formative assessment in the
Environmental Studies?

A. Asking children to solve the
questions given in the lesson

B. Explain the new terms given in the
lesson

C. Asking children to draw the picture
given in the lesson

D. Get the children to do the activity
and record the observations

Which of the following is not an
example of natural and social
interaction?

A. Cutting down trees

B. Construction of dam
C. Opening a new school
D. Mining

Blood comes out of a person’s gums, he
feels tired, which disease can he have?

A. Scurvy
B. Beriberi
C. Night Blindness
D. Rickets

Which one of the following diseases
may be caused by stagnant water?

A. Polio
B. Rabies
C. Malaria
D. Tuberculosis

128.

129.

130.

131.

ZIH F i 9T 91T AT H THTH
AT 87

A. U3 H feu Tyt Kl o=t ¥ '
FLHI

B. U3 H & 7S e Sreeraferal shl samedn
T

C. =i ol 918 ¥ feu 7 fod s &1
g

D. s<di 9 fshameraiTd st 3T
SAIATHAT bl T AT

STH © I ©T WTehieh 3R AR
37 Tohar =T SeTRTT =T 87

A. UST I FHIT

B. aifer st fSmfor

C. T former I’y ST

D. e

o

T AT o AYE! ¥ G fHeherd 8, 3 o
HEqH Tl &, TE fore T o1 oraor 27

A. SHt

B. =t

C. e

D. fehed (g Tm)

Frreferfia o & i a6 gu ot @
21 TRt 27

A. i

B. WS
C. waif@m
D. &=
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132. Stories are used as pedagogy in
environmental studies.

133.

Which statement is correct in this
regard?

(@) Imagination power is developed in

children.

(b) Increases concentration in children

(c) Children have knowledge of history

(d) Children are not active in class

A

B.

a and d are correct
a, b, c are correct
a, c are correct

a, b, ¢, d are correct

Which of the following is not
recommended for environmental studies
in NCF 2005?

A

Children’s curiosity about the
environment should be nurtured

Children’s language skills should be
developed

Health subject must be included in
Environmental studies

In classroom, teacher should give
information about the environment
to the children

132.

133.

TITeOT 37T | el (=41 ol Ush RTeqorsTe
T I YA Tk STraT 21

0 Wit H kI TT he T B?

(a) Sl H ShedHT TTTeh T forehe BraT 2|
(b) ST shl THTIAT g @l

(c) Sl ol gfdeTd ol I Tl 2l

(d) s et | wfsha 72 &l

A

B.

a3 dud
a, b, cEETQ
a, cHRIT
a,b,c,dOE

NCF 2005 3 951eRur 376994 & feig
Frreferfia o & st ST T2 i 22

A

qaferoT 3 i s ot fSigma skl qiwor
foreram =nfee

STl oh VTS ShiSTedT bt forehTd BT
TR

. Ty fau vieRuT 3R § Infye

BT =T
T H T3787eh o I =<t bl TS T

SR ST =T
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134. Environmental Studies class begins with

135.

136.

a few questions. Which of the following
statement is not the correct in context to
ask the questions?

A. The prior knowledge of the child
can be traced

B. Children get opportunities for
critical thinking

C. The questions arouse curiosity in
children

D. The thinking of the children can be
restricted to the topic

The main objective of asking open
ended questions in environmental
studies class is-

A. To develop convergent thinking in
children

B. To develop divergent thinking in
children

C. To develop listening skills in
children

D. To develop speaking skills in
children

Which of the following statements
regarding the activity conducted in the
classroom is incorrect?

A. Activity can be done in group only
B. Activity arouses curiosity

C. The teachers involvement in the
activity should be minimal

D. There must be an element of
challenge in the activity

134.

135.

136.

TSRO STEF shl Hefl 3l TR % W01 &
et Stra 21 freforfiad # & =i |1 e
S U1 o1 TEl TREET T 22

A. S % Y9 T T 9T SR ST HehdT
2l

B. <dl ohl ATATHTcHh fered™ i T

T T 2
C. W s=al | fSIgm Semd @

D. ==l o = Yoot aek Hifera femam
SIKEIR

TSRO ST shl hefl § soall § Gt T
TS T T 38T B

A. a1 | ANERT Terea o foemma s
B. s=al # et fa=a 1 faerme sm
C. S=al H G % I o I LT

D. <l d sicid % ohIITel okl fIemTe AT

TTH U b1 ET FHY el | ARSI Tiferter
& GeIY § el 87

A. wifafafe ame ¥ & i ST 2]
B. wferferfr Scgahar STt 2

C. icferfer 7 favereh i wrfierd =gam
g =R

D. wfcferfer & < 1 ded HisE g
=fey

SPACE FOR ROUGH WORK / % &Td & fo1@ sre

202092-YVZV-ELG-YKIXZ-M

Set- A



137. Reema will discuss the ‘Root’ topic in 137. 691 1T G Taor 199 hl el J S

the class of environmental studies. fererar o =it Rt o S & o W Bt
Xavligig ﬁ;t.rgﬁzgsgroup of object will she aﬁﬁ&?@ﬁé‘ﬂﬂ@?
A. Beetroot, Potato, Ginger A. THe, ST, HTh
B. Carrot, Turmeric, Ginger B. TSR, gcal, 31a&h
C. Sweet Potato, Radish, Turmeric C. Y3, geil, e
D. Carrot, Beetroot, Radish D. TR, ?’%q@
138. In which group is the fungus placed in 138. g o wTiAfeIfereh o T ek i fohe &HE
the forest ecosystem? @ TR R?
A. Producer A. 3IAH
B. Consumer B. 3N
C. Decomposer C. S TIF
D. Secondary consumer D. e swsie
139. Which of the following group is the 139. T € % |1 WHE STfHe SUHIH &7
primary consumer? P sm——
A. Eagle and Snake
B. Cow and Rabbit B. T sfvEen
C. Deerand Lion C. fewor afitsr
D. Goat and Fox D. sl 3R At
140. Which of the following is best suited to 140. g @ b a1 ferenfon & Stad sraer ®
enhance the appropriate behaviour of gftg e 3 foTe Tatfees Sugeh &2
the students? ° >
A. Ignorance A ST
B. Strictness B. W&l AT
C. Reward C. &R
D. Praise D. yvigr
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141. What are the minimum ages for 141. vRQ ¥ oigsh F ASTRAT o faarg o fow

marriage of boys and girls in India? e I 3 &-
A. 18 years, 21 years A. 1899 21 a9
B. 21 years, 18 years B. 21499, 189
C. 18years, 18 years C. 18aW, I8aY
D. 18 years, 16 years D. 184, 164
142. In the class of environmental studies 142. ggiator Tear shi et ¥ f3TfershT 7 31eth
teacher called ginger a stem, because- T T e, FTfh-
A. It’s taste is pungent A. FEH! S AT BT ®
B. It contains nodes and intenodes B. I9H Y4 31 Ud €Yl aidt @
C. lItstores food C. TOH JieH HTaug AT e

D. It’s color is not green D. e e

143. The family plays an important role in 143, grrfirer TR W YA TaToT 3Tee | UiER
environmental studies at primary level Tecaqul JiterT FTaT &, Fifeh-
because- S8 ’

A. UNER T SR AfE 8id g

A. It comprises wise people

B. Family bond with children B. sull & IfeR BT gTdl &

C. It provides learning opportunity in C. € arefaes feufaat § e & sraat
real situation YT AT B

D. Family and school are related to D. qfET 3i e v get & get
each other BN o
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144. Which statement about the 144, aiqeor 6 TTEATEH & HoY H HIA § FHAT

environmental text book is correct? g a?

(@) The definitions should be included (a) q@wﬁmﬁqﬁmﬁaﬁw
in the text book. Sl

(b) Provide children opportunities for (b) S ol WIS & TH 3|
explore. _ _ (c) TEATEHe: ST bl STt 2l

O Hove st promteical 9 T i
thinking. i ST

A. (b) 3N (d) TR
B. (a), (b) 3 (c) &g

A. (b) and (d) are correct

B. (a), (b) and (c) are correct

C. Only (b) is correct C. %ad (b) w2
D. (c) and (d) are correct D. (c) 3R (d) @l

145. Science and Social Science have been 145, yrrfire TR UX qATEXT STEH o A=
included under environmental studies at forgm ot arferes fogm = aftafera fr
Primary level. It’s purpose is- T o b

A. To enable the student to understand
his/her environment as a whole

A. foemeff st 59 a1 59T fon 9 eTe
T TS Shl SHYUAT & 9T GHS Goh

B. SIEd % S Sl FH AT
C. M firerd Jord fwr &

B. To reduce the load of school bag
C. Both are similar subjects

D. Reduce the number of subjects to be

studied D. UQTS o fasal &t G&aT oF AT
146. When did the Dowry Prohibition Act 146. aest wfaer stferfram e omy g
come into force?
A. April 1965 A ST 1965
B. March 1966 B. 1966
C. July 1961 C. Jar 1961
D. April 1970 D. 31« 1970
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147. Wwhich of the following is a correct
sequence of food chain?

A. Grass—Fox—Rabbit
B. Grass—Snake —Frog
C. Grass—Rabbit—Lion
D. Grass—Fox—Deer

148. Which of the following statements are
correct about the constructivist
approach?

A. Learning is the process of rote
memorization

B. Social interaction is important in
learning

C. Learning occurs through stimulus
and response

D. Punishment is crucial for
constructing knowledge

149. Which of the following is not a physical
component of the environment?

A. Humidity
B. Climate
C. Fungus
D

. River

150. Organs related to respiration in living
beings are-

A. Gills, Skin, Kidney

B. Gills, Skin, Lungs

C. Skin, Lungs, Small Intestine
D. Lungs, Kidney, Liver

A

B
C.
D

147. 39 © W 5@ 1 9L 3HH i 91 82

T —> ATHS —> @
. HTE —>HT —>Heh
HTH — TR — 3T

. " —>aAme — e

. Fafafaa § @ 19 91 wee wEE

gEenivT o o H 6T 82

A

B

. HREHT, T T T1E T il ufsham ®

. Hie § wmTioeh FeMTT el @
. i, IEO 37 TR % g e ®
g1 fmtor 36 foru 4 weweol &

. fafafaa 5 @ 9 g wafewr o difas

T Tl 87

A
B.
C
D

O o W >

. S H FET | He T 3T 8-

. AR, To=, Joh

TS, T, Bhe
. T, WS, BT 3ATd
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SET-A

3T ifehd T T 99T 2.30 & rferehad 31k : 150
Time for making answers : 2.30 Hours Maximum Marks : 150
qNe:

1. 38T qftaent & e o g -
(i) TR T ;- areT forenter wet fOrem vrer 1-30 wer

(i) e wmr .- B 31-60 IX
(i) AT W ;- S 61-90 I3¥
(iv) =rqef W - o 91-120 I2T
(v) YT 9T ;- GITawor 121-150 9

2. T % I, & T$ OMR IT-IE (Answer Sheet) TR 3ifera T |

3. SHUTTCHe, Hodieh Tl [ohaT SITSRTT |

4. Tordlt oft T8 o FeTHeIed a1 AT e U HISTSel Wi ol T I & |

5.  OMR STR-9I (Answer Sheet) ST TENT i THT THT SIS SETIUTHT T o (o6 I8 W T T
IGH w91 firerare orfe ug I T aE TRE T W |

Note :

1. This Question Paper consists Parts namely :-

(i) First Part :- Child Development and Pedagogy 1-30 Question
(if) Second Part :- Hindi 31-60 Question
(iii) Third Part :- English 61-90 Question
(iv) Fourth Part :- Mathematic 91-120 Question
(v) Five Part :- Environmental 121-150 Question

Indicate your answers on the OMR Answer-Sheet provided.
No negative marking will be done.
Use of any type of calculator or log table and mobile phone is prohibited.

o~ N

While using Answer-Sheet care should be taken so that the Answer-Sheet does not get torn
or spoiled due to folds or wrinkles.
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